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Evaluate 2v—-3x forx=—4 and v=3.

a) =23 b) -2 c) 22 d) —45
3 7

Simplity: |[———.

piiy: [

5 5

a) —1 b) 1 c) — d) —
) ) ) 1 ) 5

. 2 1
Which of the numbers —19, 0, 5, 9, —5. EE are whole
numbers?
a) —19 only b) 0,5, 9 only

2 ]

c) —5 and 6§ only d) —19,0,5,9 only



LN

Simplify: (12-8)+(-2).

a) 2 b) —16 c) —4 d) -2

Divide: i+(—§ \
5

15 )
7 7 2 2
a) —— b) —— ¢) —— d) =
) 9 ! 25 ) 15 }3
Multiply: —12(3)(—-4)(1).
a) —144 b) —12 c) 12 d) 144

Collect like terms: Sxy—6x" +9xy—x~.

a) 14xy—7x> b) 14xy—5x" ¢) 16xy—Tx" d) —4xy+5x°



8. Simplify: —2{x—[3(x-1)-4]+5].

a) —2x b) —2x+6 c) 2x—10 d) 4x—24

9. Simplify: (3.1:'3}-"5 ]_4.

12,20
2) 81x7y? b 81¢%y® ) 4y 22

81x°y’ 81

10. Solve: 8x—5=3x+6. The solution 1s:

a) between —5 and —1 b) between —1 and 0
¢) between 0 and 1 d) between 1 and >




Question 2:(2 pomts)

Perform and simplify the followmg:
(2x=59)(3xy—6x+4y)

Answer:

(2x - 5y)(3xy — 6x + 4y) = 6x*y — 12x* + 8xy — 15xy* + 30xy — 20y°

= 6x’y — 15xy* — 12x% - 20y* + 3Bxy



Question 3: (2 pomts)

Perform, simphify, and arrange the resultng polynomial i decreasing order:

(Or-11r +6¢ —1)—(-5¢ —2x+3" +3x").

Answer:

Ox-11x" +6x° =1)=(=51 = 2x+3x* +3x") =9 -11x" + 60" ~1+5x° + 20-3x* -3¢’
=3 +(15r3 + 5:[}}+(—11:r‘? —3x2}+(9:r+ 2x)-1
=35 4110 - 14 +11x-1



Duestion 4: (2 poimts)

Solve the equation:

Mx—2)+5x=0x—Hx—1)

AAnswwer:

FHx—2)+5Sx=0x—Hx—1)
Ex— 56+ 5x Ox —d4x + 4

Bx—6 = Px 4+ 4
ax —2x = 4 4+ 5
& = 10
10
I — —_—
&
5
n _—
=

The solution set 1s {g}



Ouestion 5: (2 points)

Solve the mequality:

1x—?£31+%.

—

Answwer:
. 1
2x— T =< x4+ —
2
1
2x—3x< —47F
2
e = 1 _|_14
2 2
>
x = —E.
2
) } 15
The solution set 15 | — | +oo |

2 y



Question 6: (2 pomts)

..............

Graph the line y = —%1 +3 '1-4.,

Answer:
Chﬂﬂ Emg l"i.’i."{! Pﬂﬂ]t‘_-: ..............

1 H H
Jr=—?_'|:_3 ........

—

For x=2., wehave y=2,

For y=0. wehave J?=3$ ..............

So. the Iine passes through the pomts (2 . 2) and (0. 3).
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